Virginia High School League

Scholastic Bowl, 2002-03 season

District Competition, Match #40

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine, Matt Weiner, Christopher Moretti and Phil Castagna are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
It is comprised of 22 bones, but 21 of them are so fused together that they cannot move separately.  For ten points, what part of the human skeleton contains one separately moving bone called the mandible, and protects the brain and the major sense organs?

ANSWER:  skull
2.
Governor Paul Patton of this state announced in December he was releasing 567 non-violent felons from prison due to budget cuts. For 10 points, what is this state whose cities include Pikeville, Covington, Frankfort, Lexington and Louisville?

ANSWER: KENTUCKY
3.
Popular in the early nineteenth century, Christoph Wieland’s (VEE-lants) Agathon is the first known example.  For ten points, what genre of novel about the development of a young hero or heroine, with name from the German for “education novel,” has other examples in Mann’s Joseph and His Brothers and Dickens’s David Copperfield?

ANSWER:  bildungsroman
4.
Article 1, Section 8 of the US Constitution states that Congress will exercise exclusive legislation over it. The Constitution also limits its size to 10 miles square, and the 23rd Amendment provides that it will be able to choose electors in Presidential elections. For 10 points, what is this area described as the “seat of government” by the Constitution?

ANSWER: DISTRICT OF COLUMBIA (DC)

5.
His friend Oliver asks him to blow a horn that will bring reinforcements, but he refuses, and he and Oliver are both killed at the Battle of Roncesvalles (ROHN-say-val).  For ten points, what paladin and nephew of Charlemagne is the hero of a medieval French “chanson” (shan-SOHN), or song?

ANSWER:  Roland
6.
THIS IS A COMPUTATION QUESTION. F of x equals one plus 3x plus x-squared (f(x) = 1 + 3x + x2).  G of x equals x-squared minus 16 (g(x) = x2 -16).  For 10 points, what is the value of g of f of negative 2 ( g(f(-2)) )?

ANSWER: 109
7.  
What six-letter word describes the buying and selling of church offices and pardons?

ANSWER: SIMONY
8.
After the Russian “Time of Troubles”, this young man emerged as czar. For 10 points, who was this man that started a dynasty that would last between 1613 and 1917?

ANSWER: Mikhail ROMANOV (roh-muh-NOFF)

9.
After two straight appearances in the Sweet 16, the perennial Cinderella label no longer seemed applicable. So therefore, losing in the first round to Wyoming was necessary in last year’s NCAA tournament. Early-season losses to Kentucky and Indiana threatened to derail the season, but victories over Washington State and N.C. State have set the season back on track as they head into the new year. For 10 points, what is this Spokane, Washington, university whose teams are known as the Bulldogs?

ANSWER: GONZAGA
10.
Plumbum (plum-BUM) is, for 10 points, the Latin word for what element?

ANSWER: LEAD
11.
Baker, McVries, Stebbins and the main character, Garraty, are among the 100 competitors in the titular competition. The rules are simple. Do not interfere with the other competitors. Do not go below four miles per hour. Do not stop. Competitors have three warnings if they break the rules, and then they are shot. For 10 points, this is a description of what novel by Stephen King?

ANSWER: The LONG WALK
12.
After overthrowing the monarchy of the two Sicilies, he handed over his conquests to Victor Emmanuel II, and retired to private life. For 10 points, who was this man that commanded the “Red Shirts”?

ANSWER: Giuseppe GARIBALDI
13.
Sir Peter Scott was the founder of this international organization, whose panda logo is familiar to millions around the world, as is its environmental work. For 10 points, what is this organization which forced the name change that created World Wrestling Entertainment?

ANSWER: WORLD WILDLIFE FUND (prompt on WWF)

14.
If body A is in thermal equilibrium with body B, and body B is in thermal equilibrium with body C, then bodies A and C are in thermal equilibrium. For 10 points, this is a summary of what “law” of thermodynamics?

ANSWER: ZEROTH law of thermodynamics

15.
This city is the capital of the Mexican state of Jalisco. For 10 points, what is this city, the second-largest city in Mexico?

ANSWER: GUADALAJARA (gwah-dah-lah-HAH-ruh)

Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
What term denotes the study of fossil records or ancient life in general?

ANSWER:  paleontology
1B.
Identify the interrogative pronoun in the following sentence. “Who is the slob whose socks are on the table?” 

ANSWER: WHO

2A.
What name is given to the small amount of cash businesses keep around on hand for incidentals?

ANSWER: PETTY cash

2B. 
Joseph Campbell, Edith Hamilton, and Thomas Bulfinch were all noted compilers of  what collections of stories that explain the origin and relate the religion of various peoples?


ANSWER:  myths (or mythology)

3A.
Its parts include the echinus (eh-KY-nuss), which contain the decorative elements, and the abacus, the flat block that connects it to the architrave.  What name is given to the top, crowning part of an architectural column?


ANSWER:  capital
3B.
What body of water is defined as a natural discharge of water from the ground at the water table?

ANSWER:  spring
4A.
THIS IS A COMPUTATION QUESTION. How many blocks will be necessary to build a 1-foot cube using 1-inch cube blocks?

ANSWER: 1728
4B.
THIS IS A COMPUTATION QUESTION. A fair coin is flipped 6 times.  If the first three flips were heads, what is the probability that there were a total of exactly 4 heads?
ANSWER: 3/8
5A.
The past tense in Spanish is expressed, without helping verbs, with the imperfect and what other tense?

ANSWER: PRETERIT
5B.
The place the Romans called Hibernia is today known as what island?

ANSWER: IRELAND
6A.
What second-largest order of insects contains over 100,000 species that develop from caterpillars, including moths and butterflies?

ANSWER:  Lepidoptera
6B.
She was a former army nurse, and selected her staff to be submissive to her. Her cruelty destroys the self-esteem of the mental patients in her ward, erasing any hope of being cured. Who is this nurse in charge of the patients in “One Flew Over the Cuckoo’s Nest?”

ANSWER: Nurse RATCHED
7A.
It is a castle in the western part of Mexico City atop a fortified hill. Its capture in 1848 meant the capture of Mexico City and the end of the Mexican War. What is this castle, also known as “The Halls of Montezuma?”

ANSWER: CHAPULTEPEC (prompt on Halls of Montezuma)

7B.
Who is the country artist whose latest album, Unleashed, includes the songs That’s Not How It Is and Who’s Your Daddy?

ANSWER: Toby KEITH
8A.
A Persian word meaning “mendicant,” it is the equivalent to an Arabic fakir. What term denotes a Muslim Sufi member who often performs rituals involving singing, howling, or dancing in a whirling manner?

ANSWER:  dervish
8B.
What term, often paired with the word free, describes a neutral atom or molecule that contains an unpaired electron and is therefore very reactive?

ANSWER: (free) RADICAL


9A.
THIS IS A COMPUTATION QUESTION. An extendable ladder is resting 60 feet high on a wall, while its base is 11 feet from the wall.  The ladder is extended so it is 52 feet longer than before.  How long is the ladder after the extension?

ANSWER: 113 FEET

9B.
The term under the radical in the quadratic equation is b2 – 4ac.  What is the name for this term?

ANSWER: DISCRIMINANT

10A.
John Grimes’ 14th birthday opens what novel by James Baldwin which also has characters named Gabriel, Elizabeth, Florence and Roy?

ANSWER: GO TELL IT ON THE MOUNTAIN
10B.
What term is given to the political advisors who will attempt to interpret events in a manner most favorable to their candidate?

ANSWER: SPIN DOCTORs 

Third period: 15 tossups
1.
An object, usually something long and narrow like a rope, wire or string, is held tightly at both ends, so that a force is acting on both ends. For 10 points, what is the name of the force that is being applied?

ANSWER: TENSION
2.
THIS IS A COMPUTATION QUESTION. A farmer puts a fence around a square field that is 400 square feet in area. For 10 points, how big in square feet would a second field be if he needed twice as much fencing to put a fence around the second field? 

ANSWER: 1600 square feet

3.  
Charles was an English land agent in Ireland. He rigorously enforced high rent policies, but the locals banded together. Stores refused to sell to him, mailmen refused to deliver his letters and workers refused to work on his farms. From Charles' last name came, for 10 points, what word which describes a group of people acting together in refusing to use, buy from or deal with someone else as a form of protest?

ANSWER: BOYCOTT
4.
As commander of the French Ninth Army, he led the French counterattack at the Marne. In spring 1918, he was made the Supreme Allied Commander. For 10 points, who was this French general that with Anglo-American help was able to mastermind the Allied victory on the Western Front?

ANSWER: Ferdinand FOCH
5.

In 1945, sacred papyrus scrolls relating to this religious movement were found in the Egyptian town of Nag Hammadi.  For ten points, members of what group declared a heresy by Christians believed that they were an elect group that could gain salvation through a secret knowledge, hence their name from the Greek for “knowledge?”

ANSWER:  Gnosticism (or Gnostics)

6.
For 10 points, what man won the Presidency of South Korea in December elections?

ANSWER: ROH Moo-hyun

7.
Bozeman, Great Falls, Billings and the capital of Helena are cities in, for 10 points, what state that also includes Butte and Missoula?

ANSWER: MONTANA
8.
RTF, developed by Microsoft for exchanging documents between MS Word and other word processors, is, for 10 points, an acronym for what three words?

ANSWER: RICH TEXT FORMAT
9.

For ten points, in music, what three-letter term denotes both the pitch of the tonal center of a composition and also the moving part of certain instruments that creates the wanted pitch; a piano, for example, has 88?

ANSWER:  key(s)



10.
The authors of A Workingman’s Wife and Meek Heritage both hailed from, for ten points, what Scandinavian nation that was the home to playwright Minna Canth, Nobel laureate novelist Frans Silanpaa, and the compiler of the national epic Kalevala, Elias Lonnrot?

ANSWER:  Finland
11.
To little surprise, this Western state registered the lowest alcohol-related auto fatality rate in the country. For 10 points, what is this state, known as the Beehive State, whose success in battling DUI deaths are due to strict DUI enforcement, the unavailability of alcoholic beverages outside state-run stores and the membership of 70% of the state’s residents in the Church of Jesus Christ of Latter-Day Saints?

ANSWER: UTAH
12.
This plant disease is caused by a fungus and is often found in the stems of cereal grains like wheat and also in coffee leaves.  For ten points, what abnormal plant condition shares its name with the corrosion of iron into a hydrated oxide form?

ANSWER:  rust
13.
Along with Ken Thompson, he invented UNIX. For 10 points, who is this scientist at Bell Laboratories that along with Brian Kernighan, invented the C programming language?

ANSWER: Dennis RITCHIE
14.
A History of the English-Speaking Peoples, The Story of the Malakand Fighting Force, The River War, and Savrola were all books that helped this man win the 1953 Nobel Prize for Literature.  For ten points, what writer is best known, though, for serving as the Prime Minister of the United Kingdom during World War II?

ANSWER:  Winston Churchill
15.
In 1895, he bailed the federal government out of its potential gold deficit with a loan of gold with harsh conditions. In 1912, he appeared before Congress defending his conduct as head of his financial empire during an investigation of the “money trust”, where he was a leading figure. For 10 points, who is this man that financed the creation of U.S. Steel?

ANSWER: J.P. MORGAN
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
He works at Donner’s Bakery in New York City as a janitor and delivery boy. He is selected for an experiment by his teacher, Alice Kinnian, due to his exceptional willingness to learn. Unfortunately, he learns that Doctors Strauss and Nemur’s work contained an error, and his sudden intelligence gain will be reversed as quickly as it happened. For 10 points, who is this main character of Flowers for Algernon?

ANSWER: CHARLIE Gordon

2.
For ten points, what name is given to a scientist that studies animals, as opposed to a plant-studying botanist?

ANSWER:  zoologist
3.
Despite the abolition of the draft, this act passed in 1948 continues to be in effect, as all young men approaching their 18th birthday will know. For 10 points, what is this law that requires the registration of all men between the ages of 18 and 25 for possible induction into the military?

ANSWER: SELECTIVE SERVICE ACT
4.
THIS IS A COMPUTATION QUESTION. E is an infinite series.  The first term of E is 15, and each term is two-thirds of the previous.  For 10 points, what is the sum of this series?

ANSWER: 45
5.
David Tudor first performed this piece on August 29, 1952 for a benefit in Woodstock, New York; he raised and lowered his keyboard lid three times, at intervals of 30, 143, and 100 seconds respectively.  For ten points, Tudor performed what John Cage work that requires a pianist to sit silently in front of his instrument and time the movements with a stopwatch for the titular total amount of time?

ANSWER:  “Four Minutes, Thirty-Three Seconds”

All questions © 2002 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.


